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—. (10 70) WieY o BU{ERS, FITTRRAAET ToR?

Tr+xo+ a3+ T+ a5 =1
314+ 203+ 23+ x4 — 325 = a
$2+2I3+2I4+6l‘5:3

5:L‘1 +4I2 +3I3+3£B4 — T5 = 2
. (10 43) GERAmEAL {200 4 a9, 200 + ag, 203 + o } ERPETC R T DSBS A
24 {0417042,043} g,

E‘ (10 ﬁj\)E%Dmﬁ ap = (172747 3)T7 Qg = (17 _17 _676)T7 Q3 = (_27 _1727 _9)T7 Qy =
(17 17 _277)T7 /8 = (472747G)T'

(1) sR¥238] W = span(aq, g, as, o) BIGERCRI—41 L
(2) K a WMH, 15 8eW, IRk B4 (1) HaEBur s T L.

IEI\ (10 éj\) -LIXL {51762563754} %@Qﬁél‘m |4 E‘J*?ﬂ*f'ﬁ‘(@ﬁﬁ%, W = Span(a17a27a3)7
Hrh oy =61 +ey+e3+eg, 00 =361 +369 — 3 — 4,3 = —2¢; + 63 + 8¢4.

(1) 3k a1, 00 HOJefh:
(2) K W i—2hRtE E S

F. (104)) B fi=1—=a,fo=1+22 f3 =2+ 222 & Rz]s P=/ICK, o & Rz);
TSR WL o(fi) =2+ 2%, 0(f2) =2,0(f3) =1+ 2+ 2%

(1) WEBH: fo, fo, f3 HARE Rlz]s HY—41EL;
(2) Koo Tk {f1, fas f3} FEIHEFE:
(3) & f=1+2x+32%, K o(f).
75, (10 43) E2%0 R? fUP NS o, o
o(x1, 22, 23) = (21 + 222 + 323, —21 + 222 — 23,0),
T(x1, 2, x3) = (22, x3,0).

(1) 3R r(c+7) Fl r(oT);
(2) 3K imo + kero.
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N (10 4y) RV R F B n GRS, ar,a0,..., 0, 2 V4, H

Vi = span(ay + 2as + -+ - + nay,)
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(1) Vo sz V 542300,
(2) V=Vviel.

Jue (20 73) FIWr A G EL Dl , A B R B AR, T4 RIS UERT e e thaind,
HBE B2 R B E A

(1) Vn > 2, AEEEZLLHYSS f: M,(R) — R {if§ f(AB) = f(A)f(B);
(2) & Wy, Wy @&tz a) V I IASF23 18], Wi UW, = Wi+ W 24 HALY Wy C Wy
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(3) W o, B ZEAR M V RN LT R W, H (.0) il 5.5 HEAKT
T 2m 3w 57w
LR, W o 1B )Jefs AR RS2 > 3 16

(4) n B—MNKT 1L, W = {(z1,72,...,7,) €C" |22 + 23 + - + 22 =0}
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